@ ‘M’ @ Negatiiviset cksponentit 10
Nimi:_ Paivamaara: _ Pisteet:

—2x 100 = 100D =

100 = 688 x 100 =

1x100Y = 268,2 x 1072 =

3x10° = 473,7 x 1002 =

1079 = 125,2+ 107 =

3x 100 = 2% 1009 =

7% 107 = 1002 =

3% 10° = 3% 10 =

107 = 1002 =

1x10= 436,3 x 1003 =
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Negatiiviset eksponentit 10

-2 x 10°% = -0.0002
107 = 0.0001

1x 10" =0.1
3x10°=3

107 = 0.0001

3 x 107 =0.003

7% 10% = 700

3 x 10% =300

107 = 0.0001

1 x10=10

Paivamaara: _ Pisteet:
1079 = 0.1
688 x 107 = 0.688
268,2 x 1072 =2.682
473,7 % 1002 = 4.737
125,2+ 107 = 125200
2 x 10 = 0.0002
1072 = 0.01
3% 10 =30
1072 = 0.01

436,3 x 107 = 0.4363
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